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The distinctive outfits of some of
the nationalists are given here

A. P.C. Joshi
Party of India

B. N.H. Joshi : All India Trade
Union Federation

Communist

C. Surya Sen : Indian Republican
Army

D. S.C. Bose : Radical President
of Congress

Select the code for correct matches
(1) A,D

(2) B,C

3) C,D

(4) All of the above

Which of  the
movements gained support from
both the Hindu and the Muslims ?

following

(1) Champaran Satyagraha
(2) Anti-Partition Movement
(3) Khilafat Movement

(4) Quit India Movement

Who gave Vallabhbhai Patel, the
title of Sardar ?

(1) C. Rajagopalachari
(2) M.K. Gandhi

(3) J.L. Nehru

(4) M.A. Jinnah

(3-A)

Which one of the following is
not a correct match ?

(1) Bal — Bombay
Gangadhar Association
Tilak

(2) Mary — National
Carpenter Indian

Association

(3) Surendra — Indian
Nath National
Bannerjee Conference

(4) Anand — Indian
Mohan Bose  Society

The famous Queen Chand Bibi
who fought courageously against
Akbar belonged to which of the
following kingdom ?

(1) Berar

(2) Khandesh
(3) Ahmednagar
(4) Bijapur

The dead body of Babur was
buried by his own wishes in

(1) Kabul

(2) Peshawar
(3) Delhi

(4) Agra
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Put the following in ascending

chronological order :

A. First Battle of Panipat

B. Second Battle of Tarain

C. Shifting of capital from
Delhi to Deogiri

D. Ahmad Shah

invasion

A,B,C,D

B,A,C,D

C,B,A,D

B,C,A,D

(D
2)
3)
4)

Panini and Patanjali are the
renowned names in the literary
history of ancient India. Under
which dynasty did they flourish ?
(1) Pushyabhakti

(2) Sungas

3)
4)

Kushanas
Guptas

Put the following in ascending

chronological order of their
construction :

A. Puri Jagannnath Temple

B. Meenakshi Temple

C. Manallapuram Temple

D. Qutub Minar

Select the correct answer :

(1) A,B,C,D

2) A,C,B,D

3) B,C,A,D

4 CADB

Abdaly’

S

(5-A)

10.

11.

12.

During the reign of Firoz Shah
Tughlaq the revenues of the state
were greatly augmented through
various means. Which one was
not one of them ?

(1) Improving the fertility of

land and cultivation of

superior crops.
(2) Water taxes
3)

4)

Gardens

Enhancement of land

revenuc

The parliament can extend the
life of The Lok Sabha during the
National Emergency in the first
instance for a period of

(I) one month
(2) three months
(3)

(4) one year

six months

What can be the maximum gap
between two session of the
Parliament ?

(1)
2)
3)
4)

Three months
Four months
Six months

Nine months
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A money bill can originate

(I) in either house of the
Parliament
only in the Lok Sabha

only in the Rajya Sabha

2)
3)
4)

only in the joint seating of
the two houses

Who was the first speaker of
Lok Sabha ?

(1) Hukum Singh

(2) G.S. Dhillon

(3) G.V. Mavalankar

(4) Ananthswayanam Ayenger

A judge of the Supreme Court
can relinquish his office before
the completion of his tenure by
addressing his resignation to

(1) The President

(2) The Chief Justice of India
(3) The Union Law Minister
4)

The Prime Minister

The Comptroller and Auditor
his
report regarding the centre to
(1) The President

(2) The Parliament

(3) The of
Planning Commission
The Chief Justice of India

General submits annual

Chairman the

4)

(7-A)

17.

18.

India has adopted a federal
system of government which is
based on division of powers
between Union and the States.
However, which of the following
power has not been divided
between them ?

(D
2)
3)
4)

Executive
Legislative
Judicial
Financial

Match List — I (Events) with List
— II (Years) and select correct
answer :
List -1
1. Formation of the
Bhartiya Janta
Party

List - II
a. 1990

1. Acceptance of the b. 1980
Mandal
Commission

Report
Formation of the
first Communist
Government in an
Indian State
Passing of the
42" Amendment
Act.

Select the correct answer using
the codes given below :

1il. c. 1957

1v. d. 1976

1 11 1 1iv
(h) b a ¢ d
2 a b d ¢
@3 a b ¢ d
4 ¢ d b a
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public expenditure rests in India

with

A.
B.
C.
D.

Lok Sabha
Rajya Sabha
Legislative Assembly

Legislative Council

Choose the correct option from

the following codes :

(1)
2)
3)
4)

A and B

Aand C
A,Band C

All of the above

Meng Hongwei, who has been

elected as

new President of

Interpol belongs to which country ?

(D
2)
3)
4)

Japan
Thailand
China

Malaysia

The National Cancer Awareness

Day is observed on which date

in India ?

(D
2)
3)
4)

November 8
November 7
November 5

November 6

22,

23.

24.

©-A)

“Pradhan  Mantri  Surakshit
Matritva Abhiyan” scheme has
been launched by which Union
Minister in New Delhi ?

(1) Maneka Gandhi
(2) M. Venkaiah Naidu
(3) Narendra Modi

(4) Jagat Prakash Nadda

In which of the following
regions was the Kuka Movement
started ?

(1) United Provinces
(2)
(3)

4)

Bombay
Punjab

Bengal

The first month of national
calendar based on Saka era is

(1) Karthika
(2) Chaitra
3)

4)

Phalguna

Shravana
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The United Nations agency that
deals with maintenance of peace
and security is

(1) General Assembly

(2) International Court of Justice
(3) The Secretariat

(4) Security Council

The film “Life of Pi” was based
on the novel written by
(1) Mark Twain
(2) Alexandre Dumas
(3) Yann Martel
(4) Erich Kastner
Identify the ships with its
category/functions :
i. INS A. Anti-
Sagardhwani submarine
corvette
Nuclear
powered
nuclear
attack
submarine
Deep-sea
experiment
and research
vessel
1v. INS Kadmat D. Torpedo
Recovery
Vessel
E. Training
ship
Select the correct answer using
the codes given below :

1. INS Arihant B.

1. INS Tir C.

1 11 111 1V
() E A D E
2B D E A
3 C E A B
4 C B E A

28.

29.

(11 - A)

Find the place where central
research institutions are located :

1. Dehradun A. Central Drug
Research

Institute

Indian
Institute of
Petroleum

ii. Bangalore  B.

1. Jameshedpur C. National
Physical
Laboratory

1v. Lucknow D. National
Aerospace
Laboratories

E. Indian
Metallurgical
Laboratory
Select the correct answer using
the codes given below :
i i i v

(1) B D A E
2 E C D B
3 C E B A
4 B D E A
Wikileaks founder Julian

Assange has taken refuge for
long to avoid extradition to
Sweden in

(1) Brazilian Embassy
(2) Cuban Embassy

(3) Ecuadorian Embassy
(4) Paraguayan Embassy
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Match the items associated with
agricultural sector in India

1. Round A. Oil seeds
revolution

ii. Grey B. Fish
revolution

1. Pink C. Potato
revolution

iv. Yellow D. Prawn
revolution

E. Fertilizer

Select the correct answer using
the codes given below :

1 1 1 1v
(1) C E D A
2 b A C B
3 E C B D
4 B D E C
Saluva Narasimha ended the

Sangama dynasty and he became
ruler of Vijaynagar
during the rule of

(1) Virupaksh III
(2) Mallikarjuna
3)
(4)

dynasty

Praudha Raya
Devaraya II

Nayakas of Keladi feudatories of
(1)
(2)
(3)
(4)

Mysore Rulers
Vijaynagar rulers
Adil Shahi rulers

None of the above

(13-A)

33.

34.

35.

Isami was the court poet of
(1) All-ud-din Hassan

(2) Muhammad Shah I
(3) Firoz Shah

(4) Ahmed Shah

What is chief cause of low yields
of crops in India ?
1.  Small size of holdings

2. Traditional methods of
farming

3. Mass illiteracy among
farmers

4. Low level of farm
mechanization

Select the correct answer using
the codes given below :

(1) 1,2and3
(2) 1,2and 4
(3) 2,3and4
4) 1,3and4

Match the List — I and List — II
and select the correct answer by
using the codes given below :

List—1 List — 11
(Tribes) (Area of
Concurrency)
A. Adivasis I. Kerala
B. Moplahs  II. Nilgiri Hills
C. Todas III. Manipur
D. Angamis IV. Madhya
Pradesh
Codes
A B C D
(L IV I 1 1I
2 I1Iv 1 1 1II
G Iv 1 I 1
@ I1v m o I
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Which of the following states do
not have any million population
cities ?

1. Chhattisgarh

2. Jharkhand
3.  Odisha
4. Kerala

Select the correct answer using

the codes given below :

(1) 1Tand3

(2) 1,2and 3

3) 1,4and 3

4) 2,3and4

Examine the following

statements and select the correct

answer using the code given

below :

A. The maritime boundary of
India along the mainland

mass is 6100 km.

B. The India (Pakistan)
Afghanistan boundary 1is
called the Durand Line.

C. The maritime boundary of
India including Andaman,
Nicobar and Lakshadweep
1s 7516 km.

D. The boundary with Pakistan
was finalized through the
Radcliff Award.

Codes :

(1) A, B and C are correct.

(2) A, B and D are correct.

(3) A, CandD are correct.

(4) All of the above

(15-A)

38.

39.

40.

The rank of India in the world in
respect of area is

(1) Fifth
(2)
(3)

4)

Seventh
Sixth

Eighth

The
sequence

correct  chronological
of  the
Geological time scale is

Indian

(1) Archaean, Purana, Dravidian,
Aryan

(2) Archaean, Aryan, Purana,
Dravidian

(3) Purana, Dravidian, Archaean,
Aryan

(4) Purana, Archaean, Dravidian,
Aryan

Onam is an important festival of
(1) Tamil Nadu
(2)
3)

4)

Kerala

Andhra Pradesh

Karnataka
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44.

45.

(16 - A)
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a. R0 ®HIET
b. AHDTE 2I90TT BT QORI
C.  N3COW T0FN0HBY

d. TR SsoSeen
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BTIONHOT ®O YVTTNYY e;eoﬂa&
&

(1) azH3yb
(2) b=
(3) c=ZKd

(4) a3y
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b.  Tpeed FMoDEe3TR
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80T ADO3IIT YVITNYT, wOA.

(1) ae08y b s,
(2) a c3dzwg,
(3) a=IR d =98,

@) ¢33 d =W,
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Article 371 J granted special
status to six backward districts
of Hyderabad Karnataka region
(I) to establish a
development board

separate

(2) to ensure SC/ST families
are provided with all the
for

assistance  required

development in the region

3)

for political upliftment of
the region

(4) None of the above

Which one of the following was
India’s first biosphere reserves ?

(D
2)
3)
4)

Brahmagiris
Nilgiris
Pachmarshi

Sunderbans

Which one of the following is
not the qualification required for
election as President (of India) ?

(1) He/She must be citizen of

India.
(2) He/She must have a post-
graduate degree.
(3) He/She must not be less
than 35 years of age.

He/She must not be holding
any office of profit under

4)

the Government of India.

(17 - A)

44.

45.

Macro ecnomic policies of India
are pursued by which of the
following ?

a. Government of India
b. Reserve Bank of India
c.  Finance Ministry

d. Finance Commission

Select the correct answer using
the codes given below :

(D
2)
3)
4)

aand b
bandc
candd

aand c

MGNREGS is an example of
a. Rural finance

b.  Rural industrialisation
c.  Public asset creation

d. Livelihood security

Select the correct answer using
the codes given below :

(1)
2)
3)
4)

a and b only
a, c and d only
a and d only
c and d only
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WROBOTERE ITOH m%@oﬁa
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a. SN AINY TOIT0E (230
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) 83

c. Nno g’@eo&
S0V EITI

d. Jnow WERON
BOTONEND

IFN ARTOHS HOFCBNG BTIORD-

B0 TOOIPT YVZTNYRY, &OR.

(I) abadayc
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(4) DO Qe

48.

49.
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The
Jawaharlal

two  components  of

Nehru
Urban Renewal Mission are

National

a. Urban Services
Benchmarking
b. Urban
governance

infrastructure and

c. Evaluation of urban local
finances

d. Basic services to the urban
poor.

Select the correct answer using

the codes given below

Codes :

() a,b&c

(2) a,b,&d

(3) b&d

4) c&d

In Karnataka, ‘Vatsalya Vain’ is
a programme to
a. Reduce IMR and MMR

b. Increase institutional deliveries

c. provide counselling to
destitute women
d. rehabilitate

subjected to atrocities

women

Select the right answer using the
codes given below :

(1) aand b only

(2) b and c only

(3) b,candd only

(4) All of the above

48.

49.

50.

(19-A)

Which one of the following does

not come under the basic

principles  of  Non-Aligned

Movement ?

(1) Mutual non-aggression

(2) Equality and  Mutual
Benefit

(3) Peaceful coexistence

(4) Penetration  of
forces

market

Which one of the following

groups contains a country that is

not a member in South Asian

Association of Regional

Cooperation ?

(1) India, Sri Lanka, Maldives

(2) Maldives, Bhutan, Bangladesh

(3) Pakistan, Maldives,
Bangladesh

(4) Pakistan, China, Bhutan

Match the following :
Public sector steel plants in
India. Location.

A. Rourkela 1. Russian
(Odisha) Government

B. Bhilai II. Germany
(Madhya
Pradesh)

C. Durgapur III.British
(West Government
Bengal)

Select the correct answer using
the codes given below :

A B C
() M T 1
2) T T 1
Gy M I T
4) M T T
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In India resources are allocated
different the
recommendation of

to states on

(1) Finance Commission
2)
3)
4)

Planning Commission
Prime Minister’s Office

National Development

Council

Economic Survey of India is
published by

(1) Finance Ministry
(2) Finance Commission
(3) Planning Commission

(4) Reserve Bank of India

Devaluation of currency leads to

(1) Fall in domestic prices

2)

Increase in domestic prices

Fluctuations in domestic

3)

prices

No
prices

4)

impact on domestic

21 - A)

5S.

56.

54. If the Cash Reserve Ratio is

lowered by the RBI, its impact

on credit creation will be to
(1) Increase it
(2) Decrease it
(3) Eliminate it
(4) Destabilise it

NABARD was established on
the recommendation of

(1) Public Accounts Committee
(2) Finance Reforms Committee
(3) Rangarajan Committee

(4) Shivaraman Committee

10™ Ministerial Conference of
WTO was held between Dec 15-18,
2015 at

(1) Nairobi
(2) Singapore
(3) Bali

(4) Doha
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Which of the following states
holds third rank after Kerala and
Lakshadweep in female literacy
as per census 2011 ?

(1) Goa
2)
3)
4)

Meghalaya
Mizoram

Tripura

Union Government’s PAHAL
scheme 1s related with

(1) LPG subsidy transfer to
consumers

(2) Toilet construction in
schools

(3) Promoting girls education

(4) Providing health facilities
to senior citizens

The gas present 1in the

stratosphere which filters out
ultraviolet region from the sun
light and provides an effective
shield against radiation damage
to living things is

(1) Helium

(2) Ozone

(3) Oxygen

(4) Methane

(23-A)

60. Elections

61.

of Panchayati Raj
and Urban Local
conducted

Institutions
Bodies
supervised by

(1)

are and

Election Commission of

India
(2) State Election Commission
(3)

4)

District Election Officer

Concerned
Officer

Returning

Using the codes given below
match List — I with List — II

List - I List — IT
a. Santhwana 1. Rural
infrastructure
development
b. Bhagya- 11. Rural
lakshmi livelihood
security
c. Bharath 111. Improving sex
Nirman ratio
d. Aajeevika 1v. Rehabilitation
of distressed
women
Codes :
a b ¢ d
(1) iv i i i
(2) i 1 i iv
3) iv i i ii
4) i i i iv
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The Pradhan Mantri Ujjawala
Yojana aims to provide

1. Lamps to all school
children

1. Laptops to all school
children

iii. Education to all rural
school children

1iv. Concessional Liquefied

Petroleum Gas connections
to five crore households
living below poverty line

Choose the correct answer :
(1) iandii

(2) iiand iii

(3) 1andiv

(4) 1ii only

The first Indian woman gymnast
to qualify for Olympics and the
one who finished fourth in the
vault event in the Rio Olympics
is

(1) Dipa Karamkar

(2) Janet Jackson

(3) P.V. Sindhu

(4) Sakshi Malik

64.

65.

66.

(25-A)

Irom Chanu Sharmila, who gave
up her hunger strike on 9"
August in the year 2016, after
almost 16 years, 1s more
associated with state of

(1) Maharashtra

(2) Madhya Pradesh
(3) Manipur

(4) Meghalaya

In the beginning of August 2016,
about 7,700 Indian workers were
reported to be starving for lack
of food and living in abysmal
conditions in the camps in

(1) Japan

(2) Saudi Arabia
(3) Singapore
(4) SriLanka

Which one of the following is
chronologically correct order of
the Governors of Reserve Bank
of India ?

(1) Bimal Jalan, Y.V. Reddy,
Subbarao, Raghuram Rajan

(2) Y.V. Reddy, Raghuram
Rajan, Subbarao, Bimal
Jalan

(3) Subbarao, Bimal Jalan,
Y.V. Reddy, Raghuram
Rajan

(4) Raghuram Rajan, Bimal
Jalan, Y.V. Reddy,
Subbarao
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Telangana 1s India’s

state.
(1)
2)
3)
4)

27"
28"
29"
30"

Institution for
India  (NITI)
Aayog was set up on January 1,

National
Transforming

in the year
(1)
(2)
(3)
4)

2013
2014
2015
2016

Fourteenth Finance Commission
India

increase in the tax devolution to

in recommended an

the states by percentage

points in the divisible pool of
taxes.

(1) 5

(2) 10
(3) 15
4) 20

27 - A)

71.

72.

70. Satish Dhawan Space Centre is

located about 100 kilometres

north of
(D
2)
3)
4)

Chennai
Delhi
Kochi

Hyderabad

Which State of India shares
with
number of states of India ?

(D
2)
3)
4)

boundary maximum

Madhya Pradesh
Uttar Pradesh
Assam

Karnataka

The recent peace talks between
FARC
Government  culminated
‘Nobel  Prize-2016’

individual/organization :

(D
2)
3)
4)

and Columbian

n

to  this

Antonio Gueterres
Ban-Ki Moon
Timochenko

Juan Manual Santos
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of Intellectual Property Rights)
which
multinational organisation ?

are related to

(1) NAFTA

(2) UN

(3) WTO

(4) ASEAN

Consider the following

statements :

A. Philippines was the country
that dragged China to PCA

of
South

(Permanent Court
Arbitration)

China issue.

over

B. PCA 1s situated in New
York, U.S.A.

A 1s true.

(D)
(2) B s true.
A and B are true.

3)

(4) A and B are false.

(29-A)

76.

77.

75. What are Masala bonds ?

(1) Bonds released in India in

Foreign countries
denominations.

(2) Bonds released in foreign
countries n Indian
denomination.

(3) The bond released by
government to  procure
investment for culinary
development.

(4) None of the above

Which Public sector bank was
recently classified as ‘Domestic

Systematically Important Bank’
by RBI ?

(D
2)
3)
4)

Bank of Baroda

State Bank of Mysuru
Union Bank of India
State Bank of India

Monetary Policy Committee
(MPC) was suggested to RBI by

(D
2)
3)
4)

Mihir Shah Committee
Urjit Patel Committee
Mudgal Committee

Lodha Committee
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(1) aexs® TodRF® VTIFIOD

S
T2,00€0 @5@5 03RC23T9

(2) =/ BI3ee0TT,

(3) 200306eE33° TTIR®

(4) TR0e 2JOGEITRT 03P

(30-A)

80. xoe3TtRes®

RoTTE Q0T
BRATTATE B,BeBNYTY, FoTIe R
TWOON0T WELD D0 BRLET WY
SO33DATITY 03F9TH ?

(1)
2)
3)
4)

PERE 20T

nenegt

Reexp,

eRTE &ele’ 3303

81. IINIYva BLOTIBRD.

wof & & 360, 3¢

a DI i, BeRgEy
FITILIIOW
LRTFTIT 30T,

b. @QoQTIMOOY ii. 20Vo=T0S-
EelXiend Ciplexd )T
©3E39e0T° ORLIFE

c. RDF  Powm® iil. I0WAW
LRTFTIT  FeoT,

SHAR

d. e @ et iv. OO

e355° FOE00EIS BLCERD

oA
ROTESBNG RTIODDOT ﬁbo@gﬁﬁ@
esD2.

(1) 1 i i v
2) iv i il i
3) i i iv i

4 i m i v
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Consider the following

statements :

A. Ideally GST envisages two
different tax slabs for goods
and services respectively.

B. Proposed GST Act keeps
some goods out of the
purview of the Act.

Which of the following is true ?
(1) A alone is true.

(2) B alone is true.

(3) A and B are true.

(4) Both are not true.

Which  of the
programs by the present Union

following

Government is intended to
stimulate entrepreneurship and

innovation in farmers ?

(I) Deen
Grameen Kaushalya Yojna

Dayal Upadhyaya

(2) Cattle Genomics

(3) Biotech KISAN

(4) Gramin Bhandaran Yojana

(31-A)

80. Aquila a

81.

drone aimed at
connecting far reaching regions
with Internet connectivity was
fabricated by

(1) Facebook

(2) Google

(3) GoPro

(4) Lockheed Martin

Match the following :

R & D Centre Location

a. Vikram 1. Kalpakkam
Sarabhai
Space Centre

b. Indira Gandhi 1i. Thiruvanan-
Center for thapuram
Atomic
Research

c. Satish 11i. Mumbai
Dhawan
Space Centre
SHAR

d. Tata Institute iv. Sriharikota
of
Fundamental
Research

Select the correct answer using
the codes given below :

a b ¢ d
() m 1 1 1v
(2) iv i i i
3) i1 1 iv ii
4) 11 i 1o1v
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QRTECOHN  FOZoNE  AWERLRT
TF A WROBTOE W

(1) INS 3,
(2) INS 20gaipea’
(3) INS 3RO

(4) INS ®0xmos?

3UNT TOFITRY TR

A QTTERE  DeRTT 20w
FOO3NT RETD TR

B.  uT 2933 ATATOND 4203,
230003 T WHIRT

2YNITTE 0305 RO ?

(1) Az»g,

2) B=RE,

3) A= B

4) A3 B 90z AODY

FINTPINYY  o3wzm B30

TYE w%gﬁm’ouotb%ﬁ ?
(1) ZRRD Tona® mawe
(2) ==RERNE

(3) Tonocoma® BN

(4) =T Bewd

8s.

86.

(32-A)

23@3% R BRI IVNY 03T
BomTE  ABRERIoNY IFNT O
—;Joo‘%m SOLANFE) OIPYT NS

TNLONBOD wmoﬁad@@_g ?
(1) =zHT ®d ROTE, 9 T9E9
(2) g 0O ROTE, 9 T9ED

(3) Toagorints® O RoTEm

SS9

(4) =07, ®O ROTE, 0 T9E9

JEMOSWT  AWPVODNT  Bx°

Jplelay TOLVECAT WFHIDE 5

Qo&0o3w  (IWAI) nwcy DST

TENEO3ROANR, 1620 &.20¢. emd@d

o330 DO COD u@mﬁﬁ?&
&

TOBRODD wwmwa& QENERELD

LTOTTR, S0RZL0RTT ?
(1) NW-1
(2) NW-2
(3) NW-3

4) NW-—4
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The
submarine in Indian Navy :

(1)
2)
3)
4)

indigenously built first

INS Chakra
INS Sindhughosh
INS Kalvari
INS Arihant

Consider the following

statements :

A. Exercise Malabar is a joint

Army exercise.

B. Its permanent members are
India, US and Japan.

Which of the following is true ?
(1)
(2)
3)
4)

A only
B only
A and B

A and B both are not true.

Which of the
committee 1s concerned with
Wester Ghat ?

(D
2)
3)
4)

following

Kasturi Rangan Committee
Shah Committee
Rangarajan Committee

Sachar Committee

(33-A)

8s.

86.

In the river interlinking of Betwa
and Son, which of the following
Tiger Reserve was at the threat

of Partial Submerge ?

(1) Satpura Tiger Reserve

2)

Panna Tiger Reserve

3)

Rannthambore Tiger

Reserve

4)

Sariska Tiger Reserve

Inland Waterways Authority of
India (IWAI), Ministry of
Shipping signed a contract with
DST, to

Germany design

vessels, especially suited to

navigate the 1620 km stretch of

which national waterway ?
(1) NW-1
(2) NW-2
(3) NW-3

4) NW-4
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91.

92.

93.

9.

(34-A)

033053  NEIWJT  FRTI03®
BTN ﬁdwmmgd’ ?

(1) 2w’ A
(2) Dewa® B
3) ouma® C
4) 2ua D

BEIMOTY  2e3eBNFY oo
TANY 30T sHowng TR
AT, REORTTO

(1) e o,
2) 2peoat

3) et cgpmag S
(4) deod

3088 DFINY oIWT e
BT BRTNHIE 2

(1) =
2) s
3) 2e

(4) =wEo=

22D TZORATIN IO wsgmﬁ@
FOOED

(1) evgzees
(2) wzTsRED
(3) 3negs
4) oY=



87.

88.

89.

90.

131

Ordinary table salt is sodium
chloride. What is baking soda ?

(D
2)
3)
4)

Potassium chloride
Potassium carbonate
Potassium hydroxide

Sodium bicarbonate

The main active constituent of
tea and coffee is

(D
2)
3)
4)

Nicotine
Chlorophyll
Caffeine

Aspirin

Our
excess sunlight, becomes dark.
This 1s
pigments called
(D
(2)
(3)
4)

skin, when exposed to

because our skin

Flavaxanthin
Melanin
Carotene

Xanthophyll

The hardest form of carbon is
(1) Coke

(2)
3)
4)

Graphite
Diamond

Charcoal

(35-A)

91.

92.

93.

9.

Night blindness is caused by
lack of which vitamin ?

(D
2)
3)
4)

Vitamin A
Vitamin B
Vitamin C
Vitamin D

During winter in cold countries,
the
the ice on the icy roads.

(1) Salt

(2) Chlorine
3)
4)

1s mixed to melt

Carbon dioxide

Water

Which metallic element is liquid
at room temperature ?

(D
2)
3)
4)

Zinc
Nickel
Lead

Mercury

When we cut and keep the apple
it becomes brown due to

(D
2)
3)
4)

Oxidation
Reduction
Rotten

Decomposition
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Which of the following impart
yellow colour to urine in humans ?

(1) Cholesterol
(2) Lymph

(3) Urochrome
(4) Bile salts

Which one among the following
vitamins is necessary for blood
clotting ?

(1) Vitamin - A

(2) Vitamin-D

(3) Vitamin - K

(4) Vitamin - C

You must have experienced that
you shed tears while cutting the
This 1is the
presence of

(1) Sulphur in the cells

(2) Carbon in the cells

(3) Fat in the cells

(4) Amino acid in the cells

onion. due to

Many vegetables and fruits are
strongly coloured because they
kind of
chemical compound named

(1) Carotenoid

(2) Plasmid

(3) Plastid

(4) None of the above

contain a special

99.

100.

(37-A)

The following are some of the
important initiatives adopted by
nationalists during the course of
freedom struggle :

A. Bardoli — Vallabhbhai
Satyagrah Patel

B. Swarajist — C.R. Das

C. Khilafatist — Maulana

A.K. Azad

D. Khudai — Abdul Gaffar
Khidmatgar Khan

Select the code for correct

statements :

(1) Only A

(2) Band D

(3) CandD

(4) All of the above

The second session of Round
Table Conference broke down

on the question of

(1) Gandhiji’s fast unto death

(2) Separate electorate for the
minorities

(3) Gandhiji not being treated
on equal terms with the
representatives of the king
emperor.

(4) Government unwillingness
to release all the political
prisoners.
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